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\usepackage{pstricks-add}

\psset{xunit=5,yunit=.01}
\pspicture(-0.30,400) (1.2,1100)
\psgrid[unit=1cm,subgriddiv=0,griddots=10,gridlabels=0pt,gridwidth=0.3pt] (0,5)(6,11)

\psaxes[tickstyle=bottom,Dx=.2,Dy=100,0y=500,ticksize=2pt, comma]{->}(0,500) (0,500) (1.2,1
\savedata{\phiklein}[{{0, 580},{0.04, 580},{0.05, 600},{0.1, 670},

{0.13, 710},{0.16, 750%},{0.18, 770},{0.2, 795},{0.26, 860},{0.28, 880},

{0.3, 900%},{0.32, 920%},{0.36, 960},{0.38, 980},{0.4, 995},{0.41, 1000},

{0.42, 1003},{0.43, 1005},{0.48, 1008},{1, 1012}}]

\dataplot[plotstyle=line,showpoints=false,linewidth=2pt,linecolor=blue!60]{\phiklein}
\rput (0.6,400) {\bf\sffamily Umformgrad $\varphi$}
\rput{90}(-0.30,775){\bf\sffamily Fliespannung $k_£f$ / MPa}
\rput*[1](1.05,1010){$\dot\phi$ = 0,25 / s}

\endpspicture



